Answer on Question #58346 — Math — Trigonometry

Question

Choose the function whose graph is given below.
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y =CSCX

y=tanx

y =Secx

y = cotx

Answer: y=csc(x).



Question

Choose the function whose graph is given below.
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y=tanx

Y =CSCX

y = cotx

y =secx

Answer: y=cot(x).



Question

Choose the function whose graph is given below.
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y =tanx
Yy =CSCX
y =Secx
y = cotx

Answer: y=sec(x).



Question

Choose the function whose graph is given below.
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Yy =CSCX

y =S5ecx

y = cotx

y=tanx

Answer: y=tan(x).
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